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Write your eleven digits Register Number on the Question Paper as allotted in the
admission ticket in the space provided at the top right corner of this front page.
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This question paper has been sealed by reverse jacket. You have to cut on the right
side to open the Question Paper at the time of commencement of the examination.
Check whether all the pages of the question paper are intact.
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O.M.R Sheet will be provided subject wise separately.
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4. 38 TJTFTIFOW TR {TW DTWONNTR, TROVTY, TS ITODTP TIITT
TVRTODT), TROVT.

This Question Paper consists of three languages and each language has separate

question booklet.
5. B QWD 40 TFRYT), 38 JIFIFOIW 2. 120 TIRST, Teo0T.
() P R - JJNY R0, 01 doz3 40
(i) Q3ecd R - TFNRT IR0, 41 vow 80
(iii) 30D gPR / AT .QF.FROFT — TINY FHR0oL 81 vow 120

40 Questions are provided against each subject. This question paper contains 120

questions in all.

(1) First Language — Question No 01 To 40

(1) Second Language — Question No 41 To 80

(ii1) Third Language / NSQF— Question No 81 To 120

6. TS TP WO WOTATR, DY TJJNYNL QWIORWPYTD FwOD Tore T

FOC3T emgdé& 20T WOTIT, IV emgdéé 03503 T3e INTIT WOINH
QUWROY.

Each question carries one mark. Answering all the questions is compulsory and each
correct answer will be awarded one mark. There will be no negative marking for

wrong anSwers.
7. 0Ty WWHODY,

) TBAYR, NCRIIN0T OO,
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Q) L.20.87°. (OMR) DuTY B8 TJF0L7 O TROWE LOITB/I), TSI

QETBURNTT Ty, F[INY Ty FOOIPT WWITT 20T [ I, AeD /BT
JOCWOD LV TOOWOEF T® TIVF, YVTOSLENR FOTRLIFON 3T [IE.
auﬁaé QITHR, Jerw® [PRT e LTIVOWIL WITINY 0T OTIIYTIe
VING, OWVBNRTY, £.20.8T°. (OMR) 2 BRTWITT.

NTRTTE: T3, B0, 208 3BT 0%, o, C SNFY, &.00.87°. (OMR)
DT ejofi% C oD, VND/FZ S TOWOL® DS T3N3 IS
30003 wegwmol TOTRLOFON 3T T0mBLIeR.

28 08, :  20) ABOD (a0 svmemosi smg)
OO0
R) £.00.80°7 TOTORNT), IWTDYT, BOCIVPT BFm AT 1T [PBLRIWD.
During the examination,
a) Read the questions carefully.

b) Completely darken/shade the relevant oval against Question No. in the OMR
answer sheet using blue/black ball point pen. Do not try to alter the entry and not
to do any stray marks on OMR Sheet.

Example: In the question booklet, if C is the correct answer for Question No.20,

then in the OMR sheet, shade the option C using blue/black ball point pen as

follows.

Question No. : 20) A B ©D (This is an example only)
0] @)

c) Do not fold, tear, wrinkle or staple on the OMR Sheet.
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8. 2,00 TJNR wOWE0T TR VINID, ST SRRTY WOIT YOITRTRY, ILOW

TOMEIR WOFNYRY, ACBRMORDY.

If more than one oval is shaded for a given question, such answer is treated as

wrong and no marks will be given.

9. £.9057. (OMR) DETY IO FIBY DTHF TR BABR FoedERTTH
3TBe A BRI,

Student and Room Invigilator should sign in the OMR sheet in the space provided.

10. BOeFy VB[O [ONT IOIT QRODTOT YWZOAT 8.200.80° (OMR)T, &R
30eQFTTON ITTIC WwRALIER.

Candidate should return the subject wise answered OMR sheet to the Room Invigilator

before leaving the examination hall.

11. 325y Fo0DF T, TSTDAZOD FR[CDY IR 325y, THODFT TOFODYDE WRIZTD.

R SN
Rough work can be done in the space provided at the end of the Question Booklet.

12. Boezy ZRTRARYR TLASWT, BRJL FoeT D) I3 CIPPY[E HSTWAT
QOTITLNTT), TRRTR, JREPRSONT.

The Calculator, mobiles and any other electronic equipment are not allowed inside

the examination hall.
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TSNS T2C3ROTH %ﬁ/@w@w? IeLsnen S e.-soS:ﬂ’ﬁeéz):Gl ABRNG. WYNS e.-vsﬁos
T, BeFRT SHobT, B0, YT IT[RISIT, JDR ARDT L.00.ET ¢vET

TIIOLY 3T/ TooWODH RO TROWOEF FJYNOW Bew® [IRO.

Four choicesaregiven for each of thefollowing questions/incomplete statements.
Choosethemost appropriateanswer and shadethealphabet of the correct answer
in the OMR answer sheet given to you with a black / blue ball point pen.

81)

82)

QOWRY® 20T LPTYT .00 WTWIAY

A) IR 525‘

B) 3&ID ?SQ%OSD 30T

C) Henwmon BOWMR WoBINSN ézﬁmdé

D) T 3

The disadvantage of an integral frame chassisis
A) less cost

B) less dead weight of vehicle

C) stability for fast moving vehicle

D) difficult to repair

Pelobatd mds@g NOT3

A)  qoRy ADOBOS WA

B) gw Gsleventao

C) AT wtd) F m@@s TOWI0ED

[40 x 1 = 40]

D) Q&S & Céc?‘ ROWT IR LTS daeer&ﬁd@)dad 2AOOTT® TOTIED

Engine capacity refersto
A) the diameter of the cylinder
B)  swept volume

C) the total piston displacement

D) the volume of the cylinder above the piston when it is in the top dead centre
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83)

84)

85)

BVRNTY TOTRFD JTOTFT 2WOTH YV THED

A)  TRRCRITWRN 0T §AUPECV

B) @303 T3 ﬁo&rgpm BHWOT

C) BRI JTT° TR0

D) 3RP TP TooWOEF

One of the properties of a good lubricant among the following is
A)  chemically highly reactive

B)  very high viscosity index

C) low pour point

D) low flash point

BOWT® SOTRRYILL WEDT TN

A) TR o B) 250 f mor
C) = D) 56%39?@

The liquid used to cool the engineis

A) animaloil B)  ethylene glycol
C) grease D) castor oil

ROOTT* STTT TOFRTR, 3RTCHLL WERT WFT

A AT B) Q< 0
~
C) TR D) 83e*

The instrument used to create cylindrical holesis
A)  snips B)  drllbit
C) hammer D)  chisel

1403 (Automobile) -6-

88-KE


{DBF 3}
{DBF 4}
{DBF 5}

CCERF/CCERR 88-K E
86) 0T FTITT QORTFTY ToD éaagmﬁ OT, %oeaémeéa)s =z

A) BRSO B) onwiow®
C) QOB D) eoneF

The substance that absorbs heat when the temperature of the engine

Increases is
A)  coolent B)  lubricant
C) fuel D) il

87) wowEY WeF TSN TRTHP) FROWY, TRWTOTT 33

A) Bweedory B) S0
C)  23083WOTT D) @0

The tendency of a vehicleto divein itsfront on application of brakeis
A) rolling B)  yawing

C) bottoming D) dipping

88) éémoaacs@ RETTR 2,00 WTORBRVROTT
A)  ©QT MOE FONTT B) 3&I ﬁz;d
C) 3RS NPOT FONTT, D) Aoy BeesEs
One of the disadvantages of hypoid gearsis
A)  more ground clearance B) less expensive

C) less ground clearance D) easy to assemble
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89)

90)

01)

B ALNBOH TOTFTRY mwsm& ROHOZPTOTRLL TTZTOCIPNTHH
maséé

A)  SOBRT 3TN B) QT R

C) DIRER 5235;3@ D) degeeey

The innovation that help to maintain control while stopping the vehicleis
A) antilock brakes B)  air bags

C) navigation system D) keyfobes

DI (1) pederrs (V) 3 F3dacq (R) RO Towod

I R
A) V=— B) V=—
) R ) I
C) V=IR D) V=IR

The relationship between Current (l) Voltage (V) and resistance (R) is

I R
) R ) I
C) V=IR D) V=IR

BRNGY BRPT TIIE SedT dsw%oﬁa PRITPNY?

A)  TerodewT? B) 80080
o 9
C) BRI D) QeI
ed - ™ A

Which of the following isNOT a component of cooling system in a vehicle?
A) Radiator B)  Distributor

C) Thermostat D)  Freeze plugs
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92) QTR BbON ToWTHE MRS O

A) 2T Tp JI0° B) 30odneRd T JT°
~N T d wd
C) Oorf @ JIT° D) QoS o S0
d © wd
The type of spanner in which both the ends are closed is
A)  box spanner B)  combination spanner
C) ringspanner D)  wheelnut spanner

93) %@95 LRNND
A) QT FeIT, Yerw', TROWIEIF SREWY TFPTTT IWNW
B) X&°, KTT %ejéb@
C) @O, e, RN, B0, DO
D) @, BRrTT 10, LR
The parts of fileare
A) handle, frame, blade, adjusting wing nut
B)  head, wooden handle
C) tang, heel, face, edge, tip
D) blade, sharp edge, handle

94) é’ep TR FHONY LVTRBRENTOT YVTTTD

A) @ e B) $%cF

C) Fo0T D) DX
The tool used for lubrication purposeis

A)  drillbit B)  chisel

C) plier D) grease gun
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95)

96)

97)

T FTR, N2 LOZOR.

SDONEITT: FPCI-LTF wewT %ﬁcw:
A) ﬁaé%@emmc@ B) wnewT

C) IEReNT D) REmenews’
Observe the analogy and answer.

Multimeter : Volt Ohm meter :: Screwgauge :
A)  Micrometer B)  Ammeter
C) Hydrometer D) Tachometer

$BY® T EITT® (FHP), 83¢5° R rI[T° (BHP) 02 woRdesin® Tozfs
TR (IHP) "ENTHE Zowog

A)  FHP =IHP + BHP B) FHP =IHP — BHP
IHP

C) FHP=—— D) FHP =IHP x BHP
BHP

Therelationship between Friction Hor se Power (FHP), Brake Hor se Power
(BHP) and Indicated Horse Power (IHP) is

A) FHP =1HP + BHP B) FHP =1HP - BHP
IHP

C) FHP=—— D) FHP =IHP x BHP
BHP

BRNGY QX LVTITONS mows{z gelosIERS

A) méesw, D ST, Qe* ofe}s

B) 00T, BTEALCIT", %ﬁezss

C) aﬁoassdéz'ﬁ, SRITLIT 3023, TOT TOBE?
D) =3ty 30w, LA F & B5¢F, F @00 Bk
| dentify the group of special toolsin the following
A)  Mallet, spanner, wheel wrench

B)  Multimeter, Hydrometer, Screwgauge

C) Benchvice, Pneumatic Wrench, Hand Hacksaw

D)  Socket wrench, Piston slide base, Driver outer
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98) THTRET, VT T WA FSN TOORE AT LILD FTVOHTIVTHR LVTTTED.

A) Qe mségcs B) 3 FInex’ OF
C) T IOTRT D) SRINWEFT J0w*

The equipment that helps to lift the automobile and to carry out the work
under the chassisis

A)  Wheel balancer B)  Two post lift

C)  Air compressor D)  Pneumatic wrench

99) #$R 3RYTHT #ZTQ SRCOATOT LVTFTEATTY, HTrSR

A Fono B) o
C) &ow I D) P, N Y

| dentify the instrument shown in the given figure

A)  Plier B)  Punch

C) Benchvice D)  Fly wheel puller
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100) 5Ty, BePcdonn, 50 dacer%s:éoﬁaad LOTL WIBT [Ty

A)  JeIT B) ®oxr
C) 3% s D) TRAT WX

The material used to wipe the roof of the car while washing the car is
A)  paper B) sponge
C) tissue paper D) plastic brush

101) 3OS 20N WRLRRNTR NREeTVTON TTR, AQAT BOBRT B30
A) P JODLTYW, TOT 6T TodTLen, QORT FNSR0RTIR.
B) 3 9emn03Qn), TOW eF TosTLIeR, QOBT TWTOPILIEHR
C) D JOWRTOT, TYOT BT TO8TLIER, QORI TWTORFLIER.
D) %0 SORDLTOW, TOF LT TosTLRTID, A0RT HNSARORTID
The correct way of parking while changing the oil in a car is
A)  Car should be on a level surface with hand brake on and engine off
B)  Car should be on a slope with hand brake on and engine on
C)  Carshould be on a level surface with hand brake on and engine on

D)  Car should be on a level surface with hand brake off and engine off

102) SRWET SoNO T3 SO JOTR, WHESRCRRTN BeTms LVTTITED

A) =R B) @ I modw® Sow
C) mémsw ofe}id D) A

The tool required while changing the oil and oil filter in acar is
A)  Mallet B)  Drain plug socket wrench
C) Pneumatic wrench D)  Snips
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103) =3 sscé‘ezacgsdsael wdmoaoszﬁeaadw%

A) & 50,000 s.e0¢. 7t B) @& 20,000 3.cwe. &
C) & 10,000 3.c0e. 7t D) ®& 5,000 3.we. R
The air filter of a vehicle should be changed for every

A) 50,000 Km B) 20,000 Km

C) 10,000 Km D) 5,000 Km

104) %089 srSoEE sész;p = lalate
A)  QORT R BOTOMIBT
B) QoRm'3 Sen w3
C) Q0T &en Wove B3
D) 0BT TYS SOTHI), TROWIT
If thereis no coolant system in the car then
A)  engine cools quickly
B)  the speed of the engine increases
C) engine starts quickly

D) the temperature of the engine increases
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105) 2.0 TTIT a,'irazg@@ PO magcsd
A) W) 0TI ADOTT LEN BRI
B) YT MY QORI W BRI
C) QOIT LI: s@&ommgd
D) 20333 LB HWPIT
The clogged fud filter in an automobile
A)  makes more fuel to flow inside the cylinder
B) allows more air to enter into the engine
C) reduces the fuel pressure

D) increases the fuel pressure

106) 2,00 B3B3 BRSBTS M

A) T VR TOFE B) &) Aan3

S 9 ) B AR
C) DRI D) ©83% 0
The property of an ideal coolant is
A)  high heat capacity B)  high viscosity
C) toxic D) expensive

107) w2 es&i.raea”.raaﬂé@@ TRTIRTS FTZ T TeToR
A) OBIT BRS 98 ﬁaﬁ% WIVB IO TR
B) mMo®IT 360Q 3T SR
C) ﬁo@%f’%d RO
D) @RITRTON ARCEONT Ty
The positive body language of an automobile sales person is
A)  over talking with customers
B) eye contact with the customers
C) frowned face

D) looking at the wall during conversation
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108) MOEIT Foh weymay, BT DHTIRACHT TOrd wWeTesdne:

A) OB WoW® B) m®E g

C) M3 I0NHI D) Mmoxm3 A

A series of activities designed to enhance the level of customer satisfaction
IS

A)  Customer support B)  Customer satisfaction

C) Customer communication D) Customer service

109) ABSwﬁw,‘s"écﬁ:m‘;1 SRt SATOR TOWWAT SRTO
A) R D0 TR, B) 0/FRF S0F
C) &8 D) XR0T0 At
The model that introduced ABS system for thefirst timeis
A) BMW B)  Mercedes Benz

C) Audi D) Honda City

110) I=1AR Bems %@% 30PN DTN TRH es&é:aed.raa%@@ BoWOR3 essamﬂd

A)  TRLRITAD B) d¢ Hweeer

) = -
C) @@%@33: %55 33235% D) mé@ﬁmv 5235%
Theinnovation related to automobile that helps usto reach our destination
IS
A)  airbags B) key fobs
C) electronic stability system D) navigation system
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111) 2.0 ms%cs TDREE, VTN O$E [T WIRTITOW YVITTTED

A) R BROT B) HIITE
C) e D) :ir%ﬁezss
NC)
Aninstrument that can be used to measur ethethicknessof a coin accur ately
IS
A)  Steel ruler B)  Caliperse
C) Tape D)  Screw gauge

112) mom3mm, nebdd wvgd
B w5 O 1 TR BOFREFR ATE 1 SROYSI &) IS T ¢
A)  IDOTF B) ®3FS ROTIRFHO VwoTT
C) T ROTRETO AWOTT D) SeJIeerea 3o
Observe the analogy and answer
Vegetable ail : liquid lubricant :: molybdenum disulphide :

A)  Emulsion B)  Semisolid lubricant

C)  Solid lubricant D) Monograde oil

113) JERee® QOB RY VOTVRT, mg:b@d@ﬂ NTABRCNDT DR o
A) & 3S B) Be&Rodewtt
C) &2 AT D) BolRF3ee3s*

The component used to ignite the fuel in petrol engineis
A)  spark plug B)  radiator

C) push rod D)  carburettor
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114) ToF° 3 WAOPTT JFT eOon® ReTT, BRONTHLT RTT

A)  TooEE [ovew, B) & — 407
C) Jwewss D) S5o%0é - 800
The vehicle having rack and pinion type steering gear is
A)  Swaraj Mazda B)  Tata-407

C) Ford D) Maruti- 800

115) Hex* &30S evIadecn

A) a&mw; N TV B) $F 3roi0m)md
C) 3% TN D) T DT
A stub axleis used for

A)  tightening the bolt B)  opening the nut
C) rotating wheel D) folding the nut

116) o=s dwecdon® ST WSVOWITHNTE ©O3

A) TIOD QYEXD B) o®3@ T0d

C) ToT|IT =en D) TX S0e0n0T moeosded
The factor on which rolling resistance of a vehicle depends on

A)  slope of the road B)  mass of the vehicle

C) speed of the vehicle D) quality of the road surface

117) w3000 wwﬁ?ﬁ& Savke TOCHTOB STECINT YVTTTED

A) B BeF B B) mFE Jv

C) Reedees A0NOSE D) anNxS oo’

The device that avoids the flow of current from battery to the alternator is
A)  Cutout unit B)  Spark plug

C) Voltage regulator D) Ignition Coil
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118) oTTRY, AQ emcgcsa%n WS Q3é&3€

A B G B) Jeot &
C) Aw g D) o T
The light used for parking purposeis

A)  headlight B)  rearlight
C) sidelight D) foglight

119) 2Qo@T e iperErseh, Toned SNEEFITRNTOT QOUYF NG

A)  TBRLTT QORI B) TodnFdet” QoRT”

C) QF-TF QORT® D) «aF 63659 JEIFTS® QOVT®
The type of engine that is classified based on the arrangement of cylinder
IS

A)  Petrol engine B)  Carburettor engine

C) L-Headengine D) Inline Vertical engine

120) % $HOROHOR DHHIRNT Fer* SRcT wH3 WAES IR FOTFEY
BOBRT o W, BROHLD WITHT GVTETL

A)  OCRRIBIFS 7T BREQT B) @o5°F 30%°
C) @;3323@_'3@3@ olobsi D) ﬁhé@w@ TDYT*

The tool used to hold the compressor clutch while removing or installing
the centre nut is

A)  universal clutch holder B)  torque wrench
C) tappet wrench D) fly wheel puller
GO0
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